06937 % ¥ F A S = B0 42 S BRI F

7 i e

M
REMERMRIEFXME , WEkgEE | 26,

ERE | 48 EN AW-6060,
f N -

ERELTENBRSERELE
EEE  BRUHERRE , R

B

BEEBEENAEFEEM S, BARBER | S8 FE | WNnsE
EEE,

FEf T B EEE E 1R AR B T E A 2 B FR S,

B
EHEZEE,

{

16,
(|
N

Vg

f |

A
r:l'—

()
S
San

06937-1801 a4 ZITEMBARELER 180 | 30 | 20X2 M8x30 55,5 210 1000
06937-2001 Bl ZTEMMARECLERN 200 | 30 20X2 M8x30 55,5 230 1000
06937-2501 E=EC ZTEMMARECLER 250 | 30 | 20X2 M8x30 55,5 280 1000
06937-3001 B LT EMPAR SR 300 | 30 20X2 M8x30 55,5 330 1000
06937-3501 Rl ZTEMMARECLERN 350 | 30 | 20X2 M8x30 55,5 380 1000
06937-4001 E=E ZITENPARECAER 400 | 30 | 20X2 M8x30 55,5 430 1000
06937-5001 Bl SZITEMBAREAER 500 | 30 20X2 M8x30 55,5 530 1000
06937-6001 E=EC] ZTENMARECLER 600 | 30 | 20X2 M8x30 55,5 630 1000
06937-1802 ekl BRRE , AE 180 | 30 | 20X2 M8x30 55,5 210 1000

© norelem www.norelem.com




06937 %5 B F RN £ 2 69 48 5 SR IB

06937-2002 Bl BRRE , BWE 200 | 30 | 20X2 M8x30 55,5 230 1000
06937-2502 Rl BRRE  E 250 | 30 | 20X2 M8x30 55,5 280 1000
06937-3002 L] BRRRE , AE 300 | 30 | 20X2 M8x30 55,5 330 1000
06937-3502 Rl ERRE  hE 350 | 30 | 20X2 M8x30 55,5 380 1000
06937-4002 LR BRRR , E 400 | 30 | 20X2 M8x30 55,5 430 1000
06937-5002 Bl BRRE , BNE 500 | 30 | 20X2 M8x30 55,5 530 1000
06937-6002 Rl BRRE  E 600 | 30 | 20X2 M8x30 55,5 630 1000

© norelem www.norelem.com



